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%%% %% % %% %% %% %% %% %% %% %% %% % % % %% % %% %% % %% %% %% %% % %% %%
%%% %% % %% %% %%%%%%%%% DNS of 2D Plane Wake Flow%%%%%%%%%%%%%%
%%% %% % %% %% %% %% %% %% %% %% %% % % % %% % %% %% % %% % %% % %% % %% %%
clc;

clear all;

%%% %% % %% %% %% % %%

digits(128);

LX=200;

LY=1,;

eps=1e-50;

GAMA-=1;

GAMA2=1;

%%% %% % %% %% %% % %%

NX=240; %Number of nodes in x direction.

NY=100; %Number of nodes iny direction.

%%%%%

BETA=4; %Streching factor.

RE=100; %Reynolds number.

%%% %% % %% %% %% % %%

DX=LX/NX;

DY=LY/NY;

I=NY+1;

J=NX+1;

speed=1; %Freestream velocity (velocity of large scale structures in flow).
DT=0.25*DX;

%%% %% % %% %% %% % %%

t0=0; % Start time of simulation.

time=600; % Final time of simulation.

%%% %% % %% %% %% % %%

DIRECTX=0:DX:LX;

DIRECTY=0:DY:LY;

%9%%%%%%%% Rung-Kutta coefficients.

c=[8/15,5/12,3/4];

TA



d=[0,-17/60,-5/12];
%%%%%%%%% Weight value.
W1=5/12;
W2=43/54;
W3=28/27,
%%%%%%%% %% % %% %% % % %% % %% % %% %% %% %% % %% % %% %% % % %% % %% % %
%%%%%%%% %% % %% %% % %% % % %% % %% %%
%%%%%%%%%%%%%%%%% Pade finite difference scheme
%%%%%%% % %% % %% %% % %% % % %% % %% %%
%%%%%%%%A1X=matrix A for 1st derivative in X direction
%%%%%%%% %% % %% %% % %% %%
%%%%%%%%%%% %% %% %%%%% %% A*F=B*F'
%%%%%%%% %% % %% %% % % %% % %% % %% %% %% % %% %% % %% % %% %% %
AlX=zeros(J);
ALX(1,1)=-W1*5/2;A1X(1,2)=W1*2;A1X(1,3)=W1*.5;A1X(1,4)=0;
ALX(J,J)=W1*5/2;A1X(J,J-1)=W1*-2;A1X(J,J-2)=-W1*.5;A1X(J,J-3)=0;
AlLX(2,1)=-W2*3/4;A1X(2,2)=0;A1X(2,3)=W2*3/4;
ALX(J-1,0)=W2*3/4;A1X(J-1,J-1)=0;A1X(J-1,J-2)=-W2*3/4;
ALX(3,1)=-W3*3/112;A1X(3,2)=-
W3*87/112;A1X(3,3)=0;A1X(3,4)=W3*87/112;A1X(3,5)=W3*3/112;
Al1X(J-2,0)=W3*3/112;A1X(J-2,J-1)=W3*87/112;A1X(J-2,J-2)=0;A1X(J-2,]-3)=-
W3*87/112;A1X(J-2,J-4)=-W3*3/112;
for j=4:J-3
ALX(j,))=0;ALX(j,j-1)=-7/9;A1X(j,j+1)=7/9;A1X(},j-2)=-1/36;A1X(j,j+2)=1/36;
end;
ALX=(1/(DX)).*AlX;
%%%%%%%% %% % %% %% % % %% % %% % %% %% %% %% % %% % %% %% % % %% % %% % %
%%%%%%%% %% % %% %% % %% % % %% % %% %%
%%%%%%%%%%%%%B1X=matrix B for 1st derivative in X
direction%%%%%%%%%%%%%%%%
B1X=zeros(J);
B1X(1,1)=W1*1;B1X(1,2)=W1*2;
B1X(J,J)=W1*1;B1X(J,J-1)=W1*2;
B1X(2,1)=W2*1/4;B1X(2,2)=W2*1;B1X(2,3)=W2*1/4;
B1X(J-1,J)=W2*1/4;B1X(J-1,J-1)=W2*1;B1X(J-1,J-2)=W2*1/4;
B1X(3,2)=W3*37/112;B1X(3,3)=W3*1;B1X(3,4)=W3*37/112;
B1X(J-2,J-1)=W3*37/112;B1X(J-2,J-2)=W3*1;B1X(J-2,]-3)=W3*37/112;
for j=4:J-3
B1X(j,j)=1;B1X(j,j-1)=1/3;B1X(j,j+1)=1/3;
end;
%%%%%%%% %% % %% %% % % %% % %% %% % %% %% %% % %% % %% %% % % %% % %% % %
%%%%%%%% %% % %% %% % %% % % %% % %% %%

19



%%%%%%%%%%%%%%A1Y=matrix A for 1st derivative in Y
direction%%%%%%%%%%%%%%
AlY=zeros(l);
AlY(1,1)=-W1*5/2;A1Y(1,2)=W1*2;AlY(1,3)=W1*5;A1Y(1,4)=0;
ALY(1,D)=W1*5/2;A1Y(I,1-1)=W1*-2;A1Y(l,1-2)=-W1*.5;A1Y(l,I-3)=0;
AlY(2,1)=-W2*3/4;A1Y(2,2)=0;A1Y(2,3)=W2*3/4;
ALY(I-1,1)=W2*3/4;A1Y(1-1,1-1)=0;A1Y(I-1,1-2)=-W2*3/4;
Al1Y(3,1)=-W3*3/112;A1Y(3,2)=-
W3*87/112;A1Y (3,3)=0;A1Y(3,4)=W3*87/112;A1Y(3,5)=W3*3/112;
ALY(1-2,1)=W3*3/112;A1Y(1-2,1-1)=W3*87/112;A1Y(I-2,1-2)=0;A1Y (I-2,1-3)=-
W3*87/112;A1Y (1-2,1-4)=-W3*3/112;
for i=4:1-3
ALY (i,i)=0;AL1Y(i,i-1)=-7/9;A1Y (i,i+1)=7/9;A1Y(i,i-2)=-1/36;A1Y (i,i+2)=1/36;
end;
AlY=(1/(DY)).*AlY;
%%%%%%%%%%%%%B1Y=matrix B for 1st derivative in Y
direction%%%%%%%%%%%%%%%%
B1lY=zeros(l);
B1Y(1,1)=W1*1;B1Y(1,2)=W1*2;
B1Y(I,)=W1*1;B1Y(l,1-1)=W1*2;
B1Y(2,1)=W2*1/4;B1Y (2,2)=W2*1;B1Y(2,3)=W2*1/4;
B1Y(I-1,)=W2*1/4;B1Y(I-1,I-1)=W2*1;B1Y(I-1,I-2)=W2*1/4;
B1Y(3,2)=W3*37/112;B1Y(3,3)=W3*1;B1Y(3,4)=W3*37/112;
B1Y(I1-2,1-1)=W3*37/112;B1Y(I-2,1-2)=W3*1;B1Y(I-2,1-3)=W3*37/112;
for i=4:1-3
B1Y(i,i)=1;B1Y(i,i-1)=1/3;B1Y (i,i+1)=1/3;
end;
%%%%%%%% %% % %% %% % % %% % %% % %% %% %% %% % %% % %% %% % % %% % %% % %
%%%%%%%% %% % %% %% % %% % % %% % %% %%
%%%%%%%%A2X=matrix A for 2nd derivative in X direction
%%%%%%% %% %% %% %% %% %% %
%%%%%%%%%%% %% %% %%%%%%% A*F=B*F"
%%%%%%%% %% % %% %% % % %% % %% % %% %% %% % %% %% % %% % %% %% %
A2X=zeros(J);
A2X(1,1)=13;A2X(1,2)=-27;A2X(1,3)=15;A2X(1,4)=-1;A2X(J,J)=13;A2X(J,J-1)=-27;A2X(J,J-
2)=15;A2X(J,J-3)=-1;
A2X(2,1)=12;A2X(2,2)=-24;A2X(2,3)=12;A2X(J-1,J)=12;A2X(J-1,]-1)=-24;A2X(J-1,J-2)=12;
for j=3:J-2
A2X(j,))=-9;A2X(j,j-1)=4;A2X(j,j+1)=4;A2X(j,j-2)=1/2;A2X(j},j*+2)=1/2;
end;
A2XU=A2X;
A2Xu(1,1)=-3/2;



A2Xu(1,2)=0;
A2Xu(1,3)=3/2;
A2Xu(1,4)=0;
%
A2Xu(J,J)=-3/2;
A2Xu(J,J-1)=0;
A2Xu(J,J-2)=3/2;
A2Xu(J,J-3)=0;
%
A2Xu=((1/DX)"2).*A2Xu;
%
A2X=((1/DX)"2).*A2X;
%%%%%%%%%%%B2X=matrix B for 2nd derivative in X direction
%%%%%%%% %% % %% %% %%
B2X=zeros(J);
B2X(1,1)=1;B2X(1,2)=11;B2X(J,J)=1;B2X(J,J-1)=11;
B2X(2,1)=1;B2X(2,2)=10;B2X(2,3)=1;B2X(J-1,J)=1;B2X(J-1,J-1)=10;B2X (J-1,J-2)=1;
for j=3:J-2
B2X(j,j)=4;B2X(j,j-1)=1;B2X(j,j+1)=1;
end;
%
B2Xu=B2X;
B2Xu(1,2)=2;
B2Xu(J,J-1)=2;
%%%%%%%%%%%A2Y =matrix A for 2nd derivative in Y direction
%%%%%%%% %% % %% %% %%
A2Y=zeros(l);
A2Y(1,1)=13;A2Y(1,2)=-27;A2Y (1,3)=15;A2Y (1,4)=-1;A2Y (1,)=13;A2Y (I,1-1)=-27;A2Y(I,1-
2)=15;A2Y(1,1-3)=-1;
A2Y(2,1)=12;A2Y (2,2)=-24;A2Y (2,3)=12;0=.65;A2Y (I-1,1)=12;A2Y (I-1,1-1)=-24;A2Y (I-1,1-
2)=12;
for i=3:1-2
A2Y(i,i)=-9;A2Y (i,i-1)=4;A2Y (i,i+1)=4;A2Y (i,i-2)=1/2;A2Y (i,i+2)=1/2;
end;
A2Y=((1/DY)"2).*A2Y;
%%%%%%%%%%%B2Y =matrix B for 2nd derivative in Y direction
%%%%%%%% %% % %% %% %%
B2Y=zeros(l);
B2Y(1,1)=1;B2Y(1,2)=11;B2Y(I,1)=1;B2Y(l,1-1)=11;
B2Y(2,1)=1;B2Y(2,2)=10;B2Y(2,3)=1;B2Y(I-1,1)=1;B2Y(I-1,1-1)=10;B2Y(I-1,1-2)=1;
for i=3:1-2
B2Y(i,i)=4;B2Y (i,i-1)=1;B2Y (i,i+1)=1;

A



end;

%%% %% % %% %% %%% % %% %% %% %% %% % % % %% % %% %% % %% %% %% %% % %% %%
%%% %% % %% %% %% %% %% %% %% %% % %% %%

%%%%%%%%% LAN=Diagonal matrices for the 1st and 2nd derivatives %%%%%%%%%%%
%9%%%%%%%%% aproximations in the cross stream direction

%%% %% % %% %% %% %% %% % % %%

%%% %% % %% % %% %% % %% % % %% %% %% % % % %% % %% %% % %% %% %% %% % %% %%
%%% %% % %% %% %% %% %% %% %% %% % %% %%

%%%%%%%%%%%%%% LAN1

LAN1=zeros(l);

for i=1:1

%for mapping y=-BETA.Cot(pi.kisi):
LANL1(i,i)=(1/(pi*BETA))*((sin(pi*(i-1)*DY))"2);

%for mapping y=BETA.Tan(pi.kisi/2):
%LANL(i,i)=(2/(pi*BETA))*((cos(pi*(i-1)*DY/2))"2);

end;

%%%%%%%%%%%%% LAN2

LAN2=LAN1.72;

%%%%%%%%%%%%% LAN3

LAN3=zeros(l);

for i=1:1

%for mapping y=-BETA.Cot(pi.kisi):
LAN3(i,i)=(2/(pi*(BETA"2)))*((sin(pi*(i-1)*DY))"3)*cos(pi*(i-1)*DY);

%for mapping y=BETA.Tan(pi.kisi/2):
%LAN3(i,i)=(-4/(pi*BETA))*(sin(pi*(i-1)*DY/2))*(cos(pi*(i-1)*DY/2)"3);
end;LANS;
%%% %% % %% % %% %% % %% %% %% %% %% % % % %% % %% %% % %% % % %% %% % %% %%
%%%%%6%%% %% %% %% %% %% %% %% %% % %%
%%%%%%%%%%%%%D1Y=1st derivative operator in the cross-stream (y)direction%%
D1Y=LAN1*(B1Y~"-1)*AlY;
%%%%%%%%%%%%%D2Y=2nd derivative operator in the cross-stream (y)direction%%
D2Y=(LAN2*(B2Y"-1)*A2Y)+(LAN3*(B1Y"-1)*AlY);
%%%%%%%%%%%%%D1X=1st derivative operator in the cross-stream (x)direction%%
D1X=(B1X"-1)*AlX;
%%%%%%%%%%%%%D2X=2nd derivative operator in the cross-stream (x)direction%%
D2X=(B2X"-1)*A2X;

\Al



%%6%%%%%%%% % %% % %% % %% % %% %% % % % %% % %% %% % %% % %% % %% % %% %%
%%%%%%%%%% % %% % %% %% %% %% %% % % %
%9%%%%%%%%%%%%introduce mean velocity profile in the streamwise direction%%%
%%%%%%%%%%%%%NOTE: U=U0+u where UO=Dbase flow, U=instantaneous
velocity,%%%%
%9%%%%% %% %% %%%%%%%%%% u=computational velocity
%%6%%%%%% %% % %% % %% %%%%%% %% % % % %%
U0=zeros(l,J);
for i=1:1

for j=1:J
%for mixing layer:
% U0=1/2{(1/landa)+tanh(2z)}=(Reynolds profile);
% landa=[(U1-U2)/(U1+U2)]=3-->U1=2,U2=1.
% UO0(i,j)=0.5*(3+tanh(2.*(-BETA.*cot(pi.*(i-1).*DY +eps))));
% UO0(i,j)=0.5*(1+tanh(-BETA.*cot(pi.*(i-1).*DY+eps)));(Michalke profile);

%for jet flow:
% UO0(i,j)=GAMA*(1-(tanh(GAMA2*(-BETA.*cot(pi.*(i-1).*DY +eps))))"2);

%for wake flow:

% UO0(i,j)=1-(0.692*exp(-In2*((-BETA.*cot(pi.*(i-1).*DY +eps)"2))));
UO0(i,j)=1-0.692*(exp(-log(2)*((-BETA.*cot(pi.*(i-1).*DY +eps))"2)));
end;

end;

%%% %% % %% %% %% %% %% % % %% %% %% % % % %% % %% %% % %% % %% % %% % %% %%

%%% %% % %% %% %% %% %% %% %% %% %% % %%

%9%%%%%%%%%%% mean velocity (base flow) derivatives

%%% %% % %% %% %% %% %% %% %% %% %%

u01Y=D1Y*U0;

%%%%%%%%

U01X=zeros(l,J);

%%%%%

U02X=zeros(l,J);

%%%%

U04X=zeros(l,J);

%%%%%

u02Y=D2Y*U0;

%%%%%

u04Y=D2Y*U02Y;

%%%%%

u042X2Y=zeros(l,J);

Al



%%6%%%%%%%% % %% % %% % %% % %% %% % % % %% % %% %% % %% % %% % %% % %% %%
%%%%%%%%%% % %% % %% %% %% %% %% % % %
%9%%%%%%%%%%introduce instantaneous velocity in the streamwise direction%%%%
for i=1:1

for j=1:J
%  U(i,j)=0.5*(1+tanh(-BETA.*cot(pi.*(i-1).*DY +eps)));

U(i,))=1-0.692*(exp(-log(2)*((-BETA.*cot(pi.*(i-1).*DY +eps))"2)));

end;
end;
%9%%%%%%%%%%computational velocity
%%%%%%%%%% % %% % %% % %% % %% %% % %% %% % %% %% % %% % %% %
u=U-uo;
%9%%%%%%%%%%initial boundary values of u
%%6%%%%%% %% % %% % %% %% %% %% %% % % % %% % %% %% %
inflowu(:,1,1)=u(:,1);
outflowu(:,1,1)=u(:,J);
%%6%6%%%%%%% % %% % %% % %% % %% %% % % % %% % %% %% % %% % %% % %% % %% %%
%%%%%%%%%% % %% % %% %% %% %% %% % % %
%%%%%%%%%%%%%NOTE: V=v where V=V _hc=instantaneous
velocity,%%%%%%%%%%%% %% %%
%9%%%%%%%%%%%%%%%%%%%v=v_bc=computational velocity
%9%6%%%%%%%% % %% % %% %% %% %% %% %
%%%%%%%%%introduce instantaneous velocity in the cross-stram direction%%%%
for i=1:1

for j=1:J

V_bc(i,j)=0;

end;
end;
v_bc=V_bc;
%9%%%%%%%%%%initial boundary values of v
%%6%%%%%%%% % %% % %% %% %% %% %% % % % %% % %% %% %
inflowv(:,1,1)=v_bc(:,1);
outflowv(:,1,1)=v_bc(:,J);

%%%%%%%%%%%initial boundary values of

du/dx%% %% % %% %% %% %% % %% %% %% %% %% %% % %% % %%
inflowvlY=D1Y*inflowv(:,1,1);

inflowdu(:,1,1)=-inflowv1lY;

%

outflowv1Y=D1Y*outflowv(:,1,1);

outflowdu(:,1,1)=-outflowv1Y;

A&



%9%%%%%%%%%%% grad2U=Laplace equation

%%6%6%%%%% %% % %% % %% %% %% %% %% % % % %% % %% %% % %% %
u2X=(D2X*u"’";

u2Y=D2Y*u;

gradu(:,:,1)=u2X+u2Y;

%%6%%%%%%%% % %% % %% % %% % %% %%% % % %% % %% %% % %% % %% % %% % %% %%
%%%%%%%%%% % %% % %% %% %% %% %% % % %

%%% %% %%% % %% %% % %% % %%%%%%%% Time Advancement
%%6%%%%%%%% % %% % %% % %% % %% %% % %% %% % %%
%9%%%%% %% %% % %% %%%%%%% using 3rd order Runge-Kutta method
%%%%%%%%%% % %% % %% % %%

t(1)=t0;

NT=0;

while t(1)<time

%

for sub=1:3

%

t(sub+1)=t(sub)+(c(sub)+d(sub)).*DT;
%%%%%%%%%% % %% % %% % %% % %% %% % %% %% % %% %% du/dx:
ulX=(D1X*u’);

ulX(:,1)=inflowdu(:,1,sub);

ulX(:,J)=outflowdu(:,1,sub);

%%6%%%%%% %% % %% % %% % %% %% % %% % % % %% % %% %% % %% % %% %% V:
Q2=-D1Y*(ulX);

Q2(1,:)=II;

Q2(I-1,1)=[I;

%%%%%%%%%% % %% %%

DD2Y=D2Y,

DD2Y(:,1)=[l;

DD2Y(,I-1)=[];

DD2Y(1,)=[l;

DD2Y(I-1,)=[];

v_int=DD2Y"-1*Q2;

v=[zeros(J,1),v_int',zeros(J,1)];

v(:,1)=inflowv(:,1,sub);

v(:,J)=outflowv(:,1,sub);
%%6%%%%%%%% % %% % %% % %% %%%%%% %% U & V

U=u+U0;

V=v;

% U=u+UO0+xUE;

% V=v+VE;

%%%%%%%%%% % %% % %% %%%%%%%%% % %% w



V1X=(D1X*V")"

UlY=D1lY*U;

% U1lY=ulY+UOLY;

%

w=(V1X-UlY);

%

H1=V.*w;

H2=(-U).*w;
%%%%%%%%%% % %% % %% % %% %%%%%% %
H11Y=D1Y*H1,;

H12Y=D2Y*H1;H12Y=0*H12Y;

H21X=(D1X*H2""

H22XY=D1Y*((D1X*H2)";
%%%%%%%%%% % %% % %% % %%%%%%%% %%
%%%%%%%% %% % %% % %% %%%%%% %% % %viscous term
u2X=zeros(l,J);u2X=u2X;

%

AA2Xu=zeros(l,J);

ZER=zeros(l,J-2);
AA2Xu=[(-3/DX).*inflowdu(:,1,sub),ZER,(3/DX).*outflowdu(:,1,sub)]’;
u2X=(B2Xu™-1)*(AA2Xu+(A2Xu*u’));

u2xX=uz2X"

%

D2Xu=(B2Xu"-1)*A2Xu;

%

U2X=U02X+u2X;

% U2X=U02X+u2X+xUE2X;

%

u2Y=D2Y*U;

%

U4X=(D2X*U2X")";

%

u4Y=D2Y*U2Y;

%

U4X2Y2=(D2X*U2Y"",
%%%%%%%%%%% %% % %% % %%%%%%%% RHS
RHS=H12Y-H22XY+(1/RE).*(U4Y+U4X+(2.*U4X2Y2));
%

RHSu(:,:,sub)=RHS;

%%%%%%%% %% % %% % %% %%%%%% %% % % % %% % %% %% %set be,s
%%% boundary condition u

for i=1:1

\a



for j=1:J
%  U_bc(i,j)=0.5*(1+tanh(-BETA.*cot(pi.*(i-1).*DY +eps)));
U_bc(i,j)=1-0.692*(exp(-log(2)*((-BETA.*cot(pi.*(i-1).*DY +eps))"2)));
end;
end;
u_bc=U_bc-U0;
% u_bc=U_bc-U0-xUE;
%
inflowu(:,1,sub+1)=u_bc(:,1);
%%%%%%%%%%%%%%%%%% boundary condition v
for i=1:1
for j=1:J
V_bc(i,j)=0;
end;
end;
v_bc=V _bc;
% v_bc=V_bc-VE;
inflowv(:,1,sub+1)=v_bc(:,1);
%%%%%%%%%% % %% % %% %% %% %% %% % %% %
%%%%%%%%%Boundary condition in outflow (convection
equation)%%%%%%%%%%%%%%%
tt(1)=t(sub);
dtt=t(sub+1)-t(sub);
u_1=u;
%
u_11X=zeros(l,J);u_11X=u_11X’
u_11X=D1X*u 1"
u_11X=u_ 11X}
%
RR1=-speed*u_11X;
tt(2)=tt(1)+dtt*(c(1)+d(1));
u_2=u_l1+c(1)*dtt*RR1;
%
u_21X=zeros(l,J);u_21X=u_21X"
u_21X=D1X*u_2
u_21X=u_21X
%
RR2=-speed*u_21X;
tt(3)=tt(2)+dtt*(c(2)+d(2));
u_3=u_2+(c(2)*RR2+d(2)*RR1).*dtt;
%
u_31X=zeros(l,J);u_31X=u_31X’;

Yy



u_31X=D1X*u_3,

u_31X=u_31X

%

RR3=-speed*u_31X;

tt(4)=tt(3)+dtt.*(c(3)+d(3));
u_4=u_3+(c(3)*RR3+d(3)*RR2).*dtt;

%

outflowu(:,1,sub+1)=u_4(:,J);
%%%%%%%%%% % %% % %% % %% %%%%%% %% %
%%%%%%%%%Boundary condition of v in outflow (convection equation)%%%%%%%%%%
ttt(1)=t(sub);

dttt=t(sub+1)-t(sub);

v_1=v,

%

v_11X=zeros(l,J);v_11X=v_11X";

v_11X=D1X*v_1"

v_11X=v 11X}

%

RRR1=-speed*v_11X;

ttt(2)=ttt(1)+dttt*(c(1)+d(1));

v_2=v_1+c(1)*dttt*RRR1;

%

v_21X=zeros(l,J);v_21X=v_21X";

v_21X=D1X*v 2

v_21X=v 21X

%

RRR2=-speed*v_21X;

ttt(3)=ttt(2)+dttt*(c(2)+d(2));
v_3=v_2+(c(2)*RRR2+d(2)*RRR1)*dlttt;

%

v_31X=zeros(l,J);v_31X=v_31X";

v_31X=D1X*v_3Y

v_31X=v_31X}

%

RRR3=-speed*v_31X;

ttt(4)=ttt(3)+dttt*(c(3)+d(3));
v_4=v_3+(c(3)*RRR3+d(3)*RRR2)*dlttt;

%

outflowv(:,1,sub+1)=v_4(:,J);

%%%%%%%% %% % %% % %% % %% % %% % %% % % %% % %% %% % %% % %% % %% % %% %%
%%%%%%%%%% % %% % %% % %% % %% %% % %% %% % %%
%%%%%%%%%% %% %% %%%% boundary condition du/dx

YA



inflowv1Y=zeros(l,J);
inflowvlY=D1Y*inflowv(:,1,sub+1);
inflowdu(:,1,sub+1)=-inflowv1Y;
%
outflowvlY=zeros(l,J);
outflowv1Y=D1Y*outflowv(:,1,sub+1);
outflowdu(:,1,sub+1)=-outflowvlY;
%
% ulX SBC(:,:,sub+1)=outflowdu(:,1,sub+1);
%%%%%%%% %% % %% % %% % %%%%% %% % %% %% %%gradU (new)
if sub==1
gradu(:,:,sub+1)=gradu(:,:,sub)+(c(1)*RHSu(:,:,sub)).*DT,;
else
gradu(:,:,sub+1)=gradu(:,:,sub)+(c(sub)*RHSu(:,:,sub)+d(sub)*RHSu(:,:,sub-1)).*DT,;
end;
%9%%%%%%% %% % %% %% %% %% % %% %% % %% %% % %% AA2 XU
AA2Xu=[(-3/DX).*inflowdu(:,1,sub+1),ZER,(3/DX).*outflowdu(:,1,sub+1)]’;

C=gradu(:,:,sub+1)-(B2Xu"-1*AA2Xu)";
%END(7) BEGIN(8): solution of poissin equation(sylvester):
A=D2Y;
B=D2Xu";
%%%%%% %% %% % %% % %% % %% %% %% %% % % %% %% %
for i=1:1
for j=2:J-1
sl=inflowu(i,1,sub+1)*B(1,j)+outflowu(i,1,sub+1)*B(J,j);
C(i,j)=C(i.j)-s1;
end;
end;
%%%%%% %% %% % %% % %% % %% %% %% %% % % %% %% %
B(.1)=[;
B(:J-1)=II;
B(1.:)=[I;
B(-1,:)=I;
CED)=II
C(:,J-1)=II;
%%% %% % %% %% % %% % %% % %% %% %% %% % % %% %% %%
u_int=lyap(A,B,-C);
%
u=[inflowu(:,1,sub+1),u_int,outflowu(:,1,sub+1)];
%
u(1,:)=0;

vAa



u(l,:)=0;

end;%(end of for continue while)
%%%%%%%%%% % %% % %% % %%%%%
TIME=t(sub+1)%%%%%%%% % %% %%%%%%%%%% % %% %%%
%%%%%%%%%% % %% % %% % %%%%% updating
t(1)=t(sub+1);

gradu(:,:,1)=gradu(:,:,sub+1);
inflowu(:,1,1)=inflowu(:,1,sub+1);
inflowv(:,1,1)=inflowv(:,1,sub+1);
outflowu(:,1,1)=outflowu(:,1,sub+1);
outflowv(:,1,1)=outflowv(:,1,sub+1);
inflowdu(:,1,1)=inflowdu(:,1,sub+1);
outflowdu(:,1,1)=outflowdu(:,1,sub+1);

%

NT=NT+1;

T(NT,1)=t(1);
%%%%%%%% %% % %% % %% % %%%%% %% % %% %%
UXO(NT,1)=U((I-1)/2+1,1);
UX60(NT,1)=U((I-1)/2+1,60);
UX120(NT,1)=U((I-1)/2+1,120);
UX180(NT,1)=U((I-1)/2+1,180);
UX241(NT,1)=U((I-1)/2+1,241);

% UX151(NT,1)=U((I-1)/2+1,151);
%%%%%%%%%% % %% % %% %% %% %% %% % %%
VXO(NT,1)=V((I-1)/2,1);

VX60(NT,1)=V((I-1)/2,60);
VX120(NT,1)=V((1-1)/2,120);
VX180(NT,1)=V((1-1)/2,180);
VX241(NT,1)=V((1-1)/2,241);

% VX151(NT,1)=V((I-1)/2,151);
%%%%%%%%%% % %% % %% % %%%%%%
UXO(NT,1)=u((1-1)/2+1,1);
uUX60(NT,1)=u((I-1)/2+1,60);
uUX120(NT,1)=u((I-1)/2+1,120);
uX180(NT,1)=u((I-1)/2+1,180);
UX241(NT,1)=u((I-1)/2+1,241);
%******************************
subplot(2,3,1),plot(DIRECTX,U((1-1)/2+1,?))

% subplot(2,3,6),plot(DIRECTX,V((I-1)/2+1,%))
subplot(2,3,2),plot(T,UX0,*b', T,UX60,".R',T,UX120,"G',T,UX180,".K', T,UX241," .B")%,T,UX151,".
K");%,T,UX600, R, T,UX700,"b"),T,VX301,.B', T,UX301,"B'



subplot(2,3,3),plot(T,VX0,*b', T,VX60, R, T,VX120,.G',T,VX180, .K',T,VX241,".B)%, T,V X151,
K");%,T,UX600,".R',T,UX700,"b")

pause(.0001)

subplot(2,3,4),imagesc(DIRECTX,DIRECTY,U)

subplot(2,3,5),plot(T,uX60, .R',T,uX120,"G',T,uX180, . K', T,ux241,"B")
%subplot(2,3,4),mesh(DIRECTX,DIRECTY,V)
subplot(2,3,6),mesh(DIRECTX,DIRECTY,U)

% subplot(2,3,6),quiver(DIRECTX,DIRECTY,U,V)

%%6%%%%%%%% % %% %0 %0 %0 Yo Yo Yo Yot T
end;%(end of while)

%9%6%%%%%%%% % %% % %0 %0 Yo Yo Yo Yot TR
figure

plot(T,UXO0,".b", T,UX60, R, T,UX120, G, T,UX180,"K', T,UX241,".b");

figure

plot(T,VX60, R', T,VvX120,.G'T,VX180, K", T,VX241,".b");

%

% for j=1:]

% Um=U(((1-1)/2)+1,));

% Um2=Um*.5;

% fori=1:(1-1)/2

% if U(i,j)>=Um2

% SATR=i;
% break;

% end;

% end;

% if U(i,j)==Um2

%  bl12(j)=-BETA.*cot(pi.*(SATR-1).*DY);
% else

% b2=-BETA.*cot(pi.*(SATR-1).*DY);

% bl=-BETA.*cot(pi.*(SATR-2).*DY);

% U2=U(SATR,));

% UI1=U(SATR-1,j);

%  b=(((b2-b1)/(U2-U1))*(Um2-U1))+bl;

% bl2(j)=-b;

% end;

% end;

% figure

% plot(DIRECTX,b12,"r);

%%%%%% %% %% % %% %% % % %% % %% % %% %% %% %
for j=1:J

AN



Um(j)=U(((I-1)/2)+1,));
m=15;
%reynolds(delta_w0)=rdw0=100;vis=0.01;(U2-U1)=2-1=1;
%(delta_wO0)=del12=vis*reynolds(delta_w0)/(U2-U1);
vis=0.01;%viscosity
rdw0=100;
delu=1;
del12=vis*rdw0/delu;
for i=m:l-(m-1)
y_norm(i-(m-1),j)=(-BETA.*cot(pi.*(i-1).*DY))/(del12);
U_norm(i-(m-1),j)=U(i,j)/uUm(j);
w_norm(i-(m-1),j)=w(i,j)*del12/Um(j);
end;
end;
% %
figure
plot(DIRECTX,Um,".r);
figure
for j=1:1:J
plot(y_norm(:,j),U_norm(:,j),".b");
hold on
end;
hold off
figure
for j=1:1:J
plot(y_norm(:,j),w_norm(:,j),".b");
hold on
end;
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clc
clear all;
load laminarworkspace

for j=1
Um(j)=U(((1-1)/2)+1.));
Ucdeficit(j)=1-Uum(j);
for i=1:1
Udeficit(i)=1-U(i,j);
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%if Ucdeficit(j)-(2*Udeficit(i,j))<=0.0000000;
%k(i)=i
%end;
end
end;
for j=1:60:J

for i=1:1
Udeficit(i,j)=1-U(i,j);

end;
plot(Udeficit(:,j),DIRECTY)
hold on;
end;
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clc
load a
bn=0.129*(DIRECTX+53.738).7(0.5);
%%% %% % %% %% %%% % %% % % %% %% %% % % % %% % %% %% % %% %% %% %% % %% %%
%%% %% % %% %% %% % % %% %% %% %% % %% %
for j=1:10:J
bn(j)=bn(1.));
Um(j)=U(((1I-1)/2)+L1.));
vVm(@(=V(((I-1)/2)+1,j);
Uavrm(j)=Uavr(((1-1)/2)+1,));
Uvibm(j)=Uvib(((I-1)/2)+1,));
Vvibm(j)=Vvib(((I-1)/2)+1,));
UVvibm(j)=UVvib(((I-1)/2)+1,j);
m=15;
for i=m:I-(m-1)
Uavr_norm(i-(m-1),j)=Uavr(i,j)/(1-Um(j));
y_norm(i-(m-1),j)=(-BETA.*cot(pi.*(i-1).*DY))/(bn(j));
U_norm(i-(m-1),)=(U(i.j))/(1-Um()));
V_norm(i-(m-1),j)=V(i,j)/(1-Um(j));
w_norm(i-(m-1),j)=w(i,j)/(1-Um(j));
Uvib_norm(i-(m-1),j)=Uvib(i,j)/(1-Um(j));
Vvib_norm(i-(m-1),j)=Vvib(i,j)/(1-Um(j));
UVvib_norm(i-(m-1),j)=UVvib(i,j)/(1-Um(j));
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end;
end;
figure
plot(DIRECTX,Um,*b";
title('(2) U in y=LY/2 and time=end ");
figure
for j=1:20:J
plot(y_norm(:,j),U_norm(:,j),".b");
title('(3) U_norm versus y_norm’)
hold on
end;
hold off
figure
for j=1:20:J
plot(y_norm(:,j),w_norm(:,j),".b");
title('(4) w_norm versus y_norm’)
hold on
end;
%%6%%%%%%%% % %% % %% % %% % %% %% % % % %% % %% %% % %% % %% % %% % %% U-
Uavr%%%%%%%%%% % %% %% %% %% %% %% %% %% % %% %% %% %% %% % %% % %% %
%%6%%%%%% %% % %% % %% %%%%%%%
figure;
plot(timeUvibNX,UvibNX4);
title('(7)U-Uaverage in x=LX/4");
figure;
plot(timeUvibNX,Uvib3NX4);
title('(8)U-Uaverage in x=3LX/4");
figure;
plot(timeUvibNX,UvibNX2);
title('(9)U-Uaverage in x=LX/2");
figure;
plot(timeUvibNX,UvibNX);
title('(10)U-Uaverage in x=LX;
%%6%%%%%% %% % %% % %% %% %% %% %% % % % %% % %% %% % %% % %% % %% %% Reyno
Ids
stresses%%%%%%%%%% %% % %% % %% %%%%%%% % %% %% % %% % %% %% %% %% %%
%%%%%%%%%% % %% %%
figure
plot(DIRECTY,Uvib(:,round(NX/4+1)),'g',DIRECTY,Uvib(:,round(NX/2+1)),"--
k' ,DIRECTY,Uvib(:,round(3*NX/4+1)),ro',DIRECTY,Uvib(:,round(NX+1)),'bs");
title('(11)Uvib in X=LX/4,LX/2,3LX/4,LX")
figure
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plot(DIRECTY,Vvib(:,round(NX/4+1)),'9',DIRECTY,Vvib(:,round(NX/2+1)),"--

k', DIRECTY,Vvib(:,round(3*NX/4+1)),ro',DIRECTY,Vvib(:,round(NX+1)), bs");

title('(12)Vvib in X=LX/4,LX/2,3LX/4,LX")

figure

plot(DIRECTY,UVvib(:;,round(NX/4+1)),'qg',DIRECTY,UVvib(;,round(NX/2+1)),'--

k', DIRECTY,UVvib(:,round(3*NX/4+1)),'ro',DIRECTY,UVVvib(:,round(NX+1)),'bs");
title('(13)UVvib in X=LX/4,LX/2,3LX/4,LX")

figure
plot(DIRECTY,Uvib(:,round(NX/4+1)),'bs',DIRECTY,Vvib(:,round(NX/4+1)),'ro', DIRECTY,1000
0*UWVvib(:,round(NX/4+1)),”*q")

title('(14)Uvib, Vvib and 10000*UVvib in X=LX/4")

figure
plot(DIRECTY,Uvib(:,round(3*NX/4+1)),'bs',DIRECTY,Vvib(:,round(3*NX/4+1)),'ro',DIRECTY,
500*UVvib(:,round(3*NX/4+1)),*q")

title('(15)Uvib, Vvib and 500*UVvib in X=3LX/4");

%%% %% % %% % %% %% % %% %% %% %% %% % % % %% % %% %% % %% %% %% %normalized
Reynolds
stresses%%%%%%%%%% %% % %% %% %% %% %% %% % %% %% % %% %% %% %% % %% %%
%%%%% %%

figure

plot(y_norm,Uvib_norm(:,round(NX/4+1)),".g',y_norm,Uvib_norm(:,round(NX/2+1)),'--
K',y_norm,Uvib_norm(:,round(3*NX/4+1)),'ro',y_norm,Uvib_norm(:,round(NX+1)),'bs");
title('(16)Uvibnorm versus ynorm in X=LX/4,LX/2,3LX/4,LX)

figure

plot(y_norm,Vvib_norm(:,round(NX/4+1)),"g',y_norm,Vvib_norm(:,round(NX/2+1)),'--
K',y_norm,Vvib_norm(:,round(3*NX/4+1)),'ro',y_norm,Vvib_norm(:,round(NX+1)),'bs");
title('(17)Vvibnorm versus ynorm in X=LX/4,LX/2,3LX/4,LX")

figure

plot(y_norm,UVvib_norm(:,round(NX/4+1)),".g',y_norm,UVvib_norm(:,round(NX/2+1)),"--
K',y_norm,UVvib_norm(:,round(3*NX/4+1)),ro',y_norm,UVvib_norm(:,round(NX+1)),'bs";
title('(18)UVvibnorm versus ynorm in X=LX/4,LX/2,3LX/4,LX")

figure
plot(y_norm,Uvib_norm(:,round(NX/4+1)),'bs",y_norm,Vvib_norm(:,round(NX/4+1)),'ro',y_norm,1
0000*UVvib_norm(:,round(NX/4+1)),”*g");

title('(19)Uvibnorm, VVvibnorm and 10000*UVvibnorm in X=LX/4");

figure
plot(y_norm,Uvib_norm(:,round(3*NX/4+1)),'bs',y_norm,Vvib_norm(:,round(3*NX/4+1)),'ro',y_n
orm,500*UVvib_norm(:,round(3*NX/4+1)),*q");

title('(20)Uvibnorm, Vvibnorm and 500*UVvibnorm in X=3LX/4";

%%% %% % %% %% %% %% %% %% %% %% %% % % % %% % %% %% % %% %% %% %% % %% %%
Y%oself-



similarity%6%%%%%%%%%%%%%% % %% %%%%%%%%% %% % %% % %% %%%%%% %%
%%6%%%%%%%%% %% % %% %%

figure

plot(y_norm,U_norm(:,round(NX/4+1)),".g',y_norm,U_norm(:,round(NX/2+1)),"--
k',y_norm,U_norm(:,round(3*NX/4+1)),ro',y_norm,U_norm(:,round(NX+1)),bs");
title('(21)Unorm versus ynorm in X=LX/4,LX/2,3LX/4,LX")

figure

plot(y_norm,V_norm(:,round(NX/4+1)),".g",y_norm,V_norm(:,round(NX/2+1)),"--
k',y_norm,V_norm(:,round(3*NX/4+1)),ro",y_norm,V_norm(:,round(NX+1)),bs");
title('(22)VVnorm versus ynorm in X=LX/4,LX/2,3LX/4,LX")

figure

plot(y_norm,w_norm(:,round(NX/4+1)),".g',y_norm,w_norm(:,round(NX/2+1)),"--
k',y_norm,w_norm(:,round(3*NX/4+1)),'ro",y_norm,w_norm(:,round(NX+1)),bs");
title('(23)wnorm versus ynorm in X=LX/4,LX/2,3LX/4,LX")

figure
plot(y_norm,Uavr_norm(:,round(NX/4+1)),".g',y_norm,Uavr_norm(:,round(NX/2+1)),'"--
k',y_norm,Uavr_norm(:,round(3*NX/4+1)),'ro',y_norm,Uavr_norm(:,round(NX+1)),bs");
title('(24)Uavrnorm at X=LX/4,LX/2,3LX/4,LX")

%%6%%%%%%%% % %% % %% % %% % %% %% % % % %% % %% %% % %% % %% % %% % %% U
Versus

time% %% %% %%%%%%%% % %% %% % %% %% %% %% % %% %% % %% % %% % %% % %% %%
%%%%%%%%

figure

plot(timeUvibNX,U_X50)

title('(25)U versus time in X=LX/4")

figure

plot(timeUvibNX,U_X100)

title('(26)U versus time in X=LX/2")

figure

plot(timeUvibNX,U_X150)

title('(27)U versus time in X=3LX/4")

figure

plot(timeUvibNX,U_X200)

title('(28)U versus time in X=LX")

figure;

plot(timeUvibNX,Uoutlayerl,'b'timeUvibNX,Uoutlayer2,'r--)

title(((29)U in 4LY/5 and X=LX/4,LX")

%%%%%%%% %% % %% % %% %% %% %% %% % %% %% % %% %% % %% % %%V versus
time% %% %% %%%%%%%% % %% %% % %% %% %% %% % %% %% % %% % %% % %% % %% %%
%9%6%%%%%%%% % %% % %% %% %% %% %% %

figure

plot(timeUvibNX,V_X50)
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title('(30)V versus time in X=LX/4")

figure

plot(timeUvibNX,V_X100)

title('(31)V versus time in X=LX/2")

figure

plot(timeUvibNX,V_X150)

title('(32)V versus time in X=3LX/4")

figure

plot(timeUvibNX,V_X200)

title('(34)V versus time in X=LX")

figure;

plot(timeUvibNX,Voutlayerl,'b'timeUvibNX,Voutlayer2,'r--)

title('(35)V in 4LY/5 and X=LX/4,LX")

%%6%6%%%%%%% % %% % %% % %% % %% %% % % % %% % %% %% % %% % %% % %% % %% %%
%%6%%%%%%%% % %% % %% % %% % %% %% % % % %% % %% %% % %% % %% % %% % %% %%
%%%%%%%%%% % %% % %% %% %% %% %% % %% %% % %% %

figure

UavrO=Uavr((I-1)/2+1,);

plot(DIRECT X,Uavr0,*b’)

title('(36)Uavr in y=LY/2 ")
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Abstract

Direct numerical simulation method to simulate spatially developing plane wake flow is
described and the numerical results are presented. The incompressible time-dependent Navier-
stockes equations were solved using compact finite difference approximations in the streamwise
direction, a mapped compact finite difference scheme in the cross-stream direction, and a third-
order compact runge-kutta scheme for time advancement. The length scale and the velocity scale
are used as two characteristics to normalize the results of simulation. These two characteristics are

the wake half width and wake deficit. A cotangent mapped of y=—pcot(z{) is used to relate the
physical domain in the double infinity of — oo <y < o to the computational domain of §
(0<¢ <1). The compact third order of runge-kutta method is used for the time-advancement

purpose. The convective outflow boundary condition is employed to create a non-reflective type
boundary condition at the outlet. An inviscid (Stuart flow) and a completely viscous solution of the
Navier-Stokes equations are used for verification of the numerical simulation. The vorticity and
velocity profile and self similarity in flow are investigated. The numerical results show a very good

accuracy and agreement with exact solution of the Navier-Stokes equation.

Key words

Direct numerical simulation, Wake flow, Compact finite difference, Mapped compact finite
difference, Self similarity.
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